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L( ) BRTHESAEHAGMLERE  FAREBE  TRECIUEZRAIBRERE
B TEK ) AR EHEFTHERIOEE I QRE S ORE S OFE -

2.( ) AFABREFX MEEZEREQTEN? Ok OB O AR @
Ao NER ©

3.( ) A T —E4 {g’ﬁ’-*‘? a 2R EBM ? OK280;4 : QNHINO; 5 @NayCO; 5 @CaCl, »

4. ( ) ATHRE [4Nf13(g)+502(g)@4N0(g)+6H20(1) » AH=—215Kcal ]k 2| 458F - 3
AT —RHRgE - 5 CRERBAMLEEHE ?ORS NHy: QFi NHz; @
BAREE  @¥pBR -

5( ) ATFTHNBEPRGBHE » HFER?ORBYRTFHRAZRIF LN - ReH
AR RE ORBYIRTLIAEHRAKE T HRAFABRELELILERE
OFAREHRBYRT RTRARBRAKEN BEAR I TR 5
CERBEA: OREEFE -

6.( ) REMEZHAFTHC(ADERTZELEEARYL THEM?ORBHELHNRE @
REMABHHERE  ORBYHAETE O RER -

7.( ) ERBEFTREBEHECRCE  REVAHBRCELAT? 0Bt —~4%E 0
Hiee—>%e ) Ofe~FE  Qut—-ad -

8. () %#4¥E(Tollen’s test) » FHMA" AMAR" » BXERARBUTATE?
OR-CO-R’ ; @R-CHO ; ®R-COOH ; ®RCH,-OH - _

9. ( ) FTraitobHBEAFIEREHY ? OCH;CH=CCl, ; @CH3CH,CH,CH=CH; ;
®CH;CH=CH; ;: @®CH;CH=CHCH; -

10.( ) A— AN E(ound stat) B F > AR BEBOTTF AL 40" NRBETFAS
47?2 ®30; @32 @34 ; @36 -

11.{ ) The ratio of the atomic radius to the nuclear radius is approximately
®10; @10%; ®10° ; @100 - ,

12.( ) Which of the following is not a factor in determining the biological effects of radiation
e%cposureCD The energy of the radiation ; @ The age of the organism at which the
exposure occurs ; @ The penetrating ability of the radiation ; @ The chemical
p:roperties of the radiation source °

13.( )For the vaporization of a liquid at a given pressure ® AG is positive at all
témperatures ; @ AG is negative at all temperatures ; @ AG is positive at low
téemperatures but negative at high temperatures ; @ AG is negative at low temperatures
but positive at high temperatures

14.( ) The boiling point of methanol is much higher than that of ethane. This is primarily due to
Mthe significant difference in molar masses of methanol and ethane ; @the hydrogen

bonding in methanol and the lack of hydrogen bonding in ethane ; ®the significant
molecular size difference between methanol and ethane ; @the carbon—oxygen bond in
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15.( ) Transition metal compounds are Overy rare in chemistry ; @always diamagnetic ;
®always paramagnetic ; @often colored

16.( ) Within a group, as the atomic numbers of the elements increase, the ®ionization
energies decrease ; @atomic masses decrease ; ®elements become less metallic ;

@atomic radii decrease °
17.( ) Which element has the greatest metallic character?
®Be; @Ca; @Al ®K -
18.( ) The value of the equilibrium constant, X, is dependent on
I. the temperature of the system.
II. the nature of the reactants and products.
II1.the concentration of the reactants.
IV. the concentration of the products.
@landIl ; @lland I ; @llland IV ; @ L, II, and I1I -

19.( ) Inosmosis, which species are allowed to pass through the semipermeable membrane?®
Only ions ; @Only solvent ; ®Only small molecules ; @Jons and solvent °

20.( ) What type of a colloid is mayonnaise? @ Foam @ Emulsion ® Sol ® Gel

SR (6 5 10 4)

1. T#RE [2NO; © NyO4] » 42 20°C ~ 1.0 e85 + 12 2] 455 » RI4E[NO,]=
0.080M - [N2O4]=0.043M o 3] : £BET » bREMPHEHET?

2. BB EFH 2z Kafi B 1.0x1078 » BEX 100N 38 : OmgeypHAERSZ V2 @
BUB 9% 20ml » AuA 5.00ml Z 2.00N # NaOH #%3% » B3k pHME A S ?

3. 5220 534 NaOH & & » AKX AR L REH 250 EAFEH T - ERMIFEHBB T -
L HHERERRaEERERTE 1 Na=23.0-0=160 H=10)-

4. Use the fo]iowing equations:

CsHs (g) + 502 (g) > 3CO2 (g) +4H0 () AH= -2219.9kJ
CO(@+ % 02(g) > COx(2) AH= —283.0kJ
1o calculate the enthalpy change for the reaction:

CsHs (g) + 02 (g) — 3CO (g) +4H20 () AH =1

5. Inthereaction 4NHj3(g) +502(g) — 4NO (g)+ 6H,0 (g) How many grams of H,O are
generated whén 1.54 moles of NHsreact ? (B-F& : N=14.0 - 0=16.0 ~ H=1.0)
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* 6. Given the following standard reduction potentials, Fe** +3e— — Fe E°P= 004V

Mg?*+2e -»Mg  E°= -2.38V, calculate the standard cell potential, E °, for the
following reaction: 3Mg?*+ 2Fe —» 3Mg+ 2Fe* ' ‘




